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Unit One

I .Listening Comprehension

Section A
Directions: In this section, you will hear 10 short conversations. At the end of each conversa-

1.A

C.

AW R OO0 ® >0 0> 0 >

D
9.A
C

tion, a question will be asked about what was said. Listen carefully and choose the
best answer from the 4 choices marked A.B.C and D.

. There has been flooding. B. Crops couldn’t grow at all.
Farmers grew too many plants. D.Farmers refused to plant.
.The cablevision is not working. ~ B.All of them but channel seventeen.
. Channel seventeen. D. All of them.

.She went to Atlanta. B.She went to a convention.
.She went to a hospital . D. She stayed home.
.At a post office. ~ B.At a bank.

. At an airport. D. At a drug store.

.Her guests don’t like punch.

. Her husband left two gallons of punch on the shelf.

.She has too many gallons of punch.

.She will run out of punch.

.the city B.the country

. getting water D.at the lake

.in an elevator B.at the dentist’s

.in a laundromat D.at a disco

.The next few days are supposed to be warm.

.Clouds and cool temperatures are expected.

.It can’t get much better than it already is.

.The rain is not expected to last much longer.

.One baby. B. None.

;Three women . D. Three women and one baby.



10.A.cold B.wam
C.hot D.mild

Section B
Directions: In this section, you will hear 3 passagw. At the end of each passage, you will hear
some questions. Listen carefully and choose the best answer from the 4 choices
marked A.B.C and D.
Passage 1
1.A. A person who ié looking for a job.
B. A person who is qualified for his job.
C. A person who is not suitable for the job he is doing.
D. A person who does quite well in his work.
2. A. Aptitute tests.
B. Studying at colleges and universities.
C.Interviews with specialists.
D.Study of the books in our field of interest.

3. A . Physicists. B. Accountants.
C.Teachers. D. Businessmen.
Passage 2

1.A.Because the shopkeeper shamed him public by about his debt.
B. Because the shopkeeper reminded him of his debt.
C. Because the shopkeeper spoke to him very often about his debt.

D. Because the shopkeeper owed money to him.

2.A.2 liras B.122 liras C.42 liras D.4 liras
3.A.He is patient. B.He is understandable.
C.He is generous. D.He is fond of money.
4.A.Bill | B. A mount of money
C. Animals D.Things in a shop
Passage 3

1.A.They contracted the disease by contact with the infected people.
B.They contracted the disease by breathing the contaminated dust.
C.They contracted the disease by drinking the contaminated water.
D.They contracted the disease by eating the contaminated food.



2.A.The virus destroys people’s nerve cells.
B.The disease can not be treated with drugs.
C.The patients didn’t go to see a doctor in time.
D.The doctors didn’t treat the patients in time.
3. A.More people are gathering to celebrate holidays.
B. More and more people have moved to the South of Ai‘genﬁna.
C.Weather changes.
D. Environmental changes.
Section C
Directions:; In this section, you will listen to a passage. Some words on the printed passage
have been taken out. Listen carefuully and fill in the blanks with the words you
have heard.The passage will be read 3 times.
1. Mahatma Gandhi, the man who secured India’s O from British rule, was assas-
sinated by one of his@ countrymen in New Delhi on January 30,1948.
Mr. Gandhi, stll®) from his recent fast for Hindu Moslem unity,, which@
him close to death,was being helped across the gardens of Birla House by his grand-
nieces, Manu and Ava, to®® ,when a young man stepped from the crowd
and® . Mr Gandhi, dressed as usual in his home-spun cloth, fell to the
ground mortally wounded , but@® his hands in front of his face in the Hindu gesture of
greeting , seemingly to his assassin. He cried out“Oh God; Oh God”and died about 25 minutes later.
The ,who has been named as Nathuram Godse, a fanatical Hindu, was seized
and hustled away as the weeping, hysterical crowd @ “Kill him, Kill him.” tried to
lynch him.
Nobody yet knows why Gandhi was killed, but there is great0 of the conse-
quences which this wild deed may keep upon a nation which has already suffered so much bloodshed

and terror.

I . Vocabulary

Directions: There are 15 incomplete sentences in this part.For each sentence there are four
choices marked A.B.C and D.Choose the ONE that best completes the sentence.
1.The bridge fell down and a one was put in its place.
A .due B. temporary



C.local D. just

2.Butif youknewallthe_ T am sure you would excuse me.
A . process B. condition
C. circumstances D. events
3.1 wish she would hurry up.She is rather __ about making a decision.
A . taking her time B.in good time
C. using time. D. having her time
4 .They made plans for a visit but difficulties with the car prevented it.
A . obvious B. continued
C. subsequent ] D. regrettable
5.The hotel our reservations by E-mail.
A . promised B. dismissed
C. answered D. confirmed
6. The best students in this school will be special scholarships.
A . awarded B. prized
C. rewarded D. called on
7 . From your I judge you are a man of some education.
A pronunciation B. voice
C.sound D. accent
8.The decisions made by the factory owners caused great anger among the work-
ers.
A. official B. arbitrary
C. casual D. careless .
9.1 still feel about that error in the accounts; I ought to have noticed it, and
pointed it out.
A . embarrassed B. doubtful
C. guilty D. reproachful
10. We had learned that the of a private school education was too high.
A .cost B. price
C.fee D. process
11.An figure could be seen through the fog.
A . petty B. fashionable

C. disreputable D. obscure



12. He just laughed, and the suggestion as unimportant.

A . took B. dismissed
C. regarded D. decided
13.If you can be there at two,you can help me to select the plants;and I can tell you some
news .
A.at first B. meanwhile
C. thoroughly D. especially
14 . Mary has no outside interests at all. Her whole life her husband and the chil-
dren.
A.conerns in ' B.revolves in
C.revolves around D. concemns about
15. What pleasure it is to through a strange city.
A . wander B. drift
C. wonder D. dream
II . Structure
Section A

Directions ; Complete the following sentences with the given words.
1.(InRFE RBAEF[E ), the students will surely do better in College English Test Band 4.
2. (4R 3K18 M 5T [ Baker | A9 #5 B A1 X #F) , 1 think we’ 1l win the game.
3.(FBAMBAIER L% ) , what they have done so far is quite good enough.
4. (452 )that the man who asked people to remain calm was a police officer in plain clothes.
5.As we hoped that(— 3] JFF ),

Section B

Directions; There are 10 incomplete sentences in this part. For each sentence there are four
choices marked A.B.C and D. Choose the ONE that best completes the sen-

tence. _
1. Specialists proof that large doses of vitamin C cure the influenza.
A. cannot B. someday will
C.lack D. without
2. the Space Age,a new dimension has been used to describe the study of the
planets.



A.Coming it is B.With the coming of

C.When came D. It will be coming

3.The objective in a reflector telescope _____ at the bottom of the tube.
A .is a mirror placed ' B. the placing of a mirror
C. a mirror is placed D.is placed a mirror

4. Jilin is a province whose name comes from a Manchurian word _ “nearer to the
river’ .
A :which meaning B.is meant
C.the meaning of D. meaning

5.The achievements of modern military techniques would be impossible highly
specialized instruments.
A. except B. if being short of
C. excluding D . without

6.When a body cell, it takes over the cell and produces more virus.
A .does a virus infect B.a virus infects
C. infected - D. being infected

7 .In winter, many animals hibernate, but others deer stay active.
A .as such B. apart
C.like D. concluded

8.The sun is a gaseous sphere, a solid body.
A . not B.nor
C.none D.but rather

9.What is true is that the sloth slowly.
A . having been moved B. had been once moved
C. moves D. do have moved

10. He always likes those shoes.

A . Wenzhou black big B.black big Wenzhou
C.Wenzhou big black D. big black Wenzhou
IV . Cloze
Section A

Directions ;: There are 10 blanks in the following passage. Fill in the blanks with the word that
6



best fits into the passage.

Mr. Grey was a biology professor 1 __had a big collection of rare bones. 2 one year he
decided to move to 3 town.The following week three men started taking the things out of Mrs.
Grey’s house and loading 4 _into the van,when one of them brought _ 5 a large wooden box.
He was just 6 to throw it into the van with all the other things 7 Mrs. Grey said, “Please
treat that 8 very gently! That one has all of my husband’s bones in it.”The man was _ 9
surprised that he 10 " dropped the box on his feet.

Section B

Directions: There are 15 blanks in the following passage.For each blank there are 4 choices
marked A.B.C and D.Choose the one that best fits into the passage.

You asked me to tell you how criminal trials in England _ 1 from criminal trials in Europe,
and I 2 you much-except, I remember that I said that in England a person accused __3 _crime
must always be supposed innocent until he has been __4 _ guilty. Newspapers mustn’t describe the
accused as ‘ the thief’ or* the murder’ ,he’s‘the 5 ’or*the prisoner’ .

rast month I served as a member of the jury at an important criminal trial . The newspaper re-
ports I’m sending 6 give a fairly complete account of the trial.

The prisoner was accused of robbing a bank and of 7 the night watchman who tried to 8
__him. He pleaded ‘ Not guilty’ ,so the trial was a9 one.We had to listen to some long speech-
esand alot of _ 10

I’ m over fifty and this was my first experience of 11 as a juryman.We’ re liable for jury
service between 21 and 60, 12 you see I might have been _ 13 many years ago. Of the twelve
members of the jury, three were women . Two of the men were small shopkeepers, 14 was a motor
mechanic, another was a‘school teacher.I didn’t find out 15 the others were, but you can see

we were a mixed lot.

1. A .range B. differ C.result D. suffer
2.A.couldn’t tell B.ought to tell C.can’t tell D.could declare
3.A.0f B. about C.over D. from

4. A.confirming B. proved C. charged D. shown
5.A.innocent B. accused C. suspecting D.invalid
6.A.individuallty B.in detail C. reasonably D. separately

7. A . robbing B. accusing C. catching D.wounding
8.A.defend B. examine C.stop D. interfere

9. A .short B.just C. appropriate D.long



10. A. trials B. evidence C. description D. information

11.A.serving B.regarding C. assuming D. blaming
12.A.s0 B.yet C. neverthless D.then

13. A. employed B. called on C.inquired out  D.promoted
14.A. the other B. there C.one D. th

15. A . whatever B. that C.what D. none

V .Reading Comprehension

Section A

Directions: There are 3 passages in this part.Each one is followed by some questions or un-
finished statements. Each of them is given 4 suggested answers marked A.B.C
and D. choose the best one.

Passage 1

Lacrosse(1< Bi#2 %K ) , a sport once played by the North American Indians both for pleasure
and as preparation for battle, continues to be played today and has recently been gaining in populari-
ty as a team sport in the U.S. and Canada. Although lacrosse in its original form was a wild and vio-
lent free-for-all with few rules and no set time limits, the modern-day-version has been much modi-
fied. An indoor version even exists.

The objective of lacrosse is,as in all games,to score points. This is done when the players of
one team move a ball from the center of the playing field to the opposing team’s goal.In doing so,
players must not touch the ball with their hands; it is moved by passing it or by means of playing
sticks called crosses. The crosses are something like short poles with a net pocket(called a “throat”)
at one end;a player carries the ball in the throat of his crosse as he runs down the field.

A lacrosse team consists of 10 players:3 attack players,3 middle field players,3 defense play-
ers and a goalkeeper. All except the goalkeeper play opposite players on the other team. A lacrosse
field is divided by a center line and each team must keep at least 4 men in the defensive half of the
field and at least 3 men in the attack halt.

A lacrosse game begins by having the 2 centers face each other in the middle of the field; the
referee then places the ball between their crosses and at the sound of his whistle they each try to get
the ball and move it down the field. A game of lacrosse lasts one hour. This time period is divided
into four fifteen-minute portions;the teams change goals after each period.

Lacrosse is an exciting fast-moving game that is almost as fun to watch as it is to play, and, al-
8



though more and more people are learning about it and playing it, it deserves much greater popularity
than it currently enjoys.
1. What is the topic of the above article”
A.North American Indians
B.sports in the U.S.and Canada
C.the game of lacrosse
D. how lacrosse has changed
2. How is the ball moved in lacrosse?
A . by passing it from one player to another
B. by running with it in the throat of the crosse
C.without using the hands
D.all the above _
3.What is the meaning of in doing so(in the 2nd paragraph)?
A . playing lacrosse
B. scoring points
C.not touching the ball with the hands
D . moving the ball to the opposing team’s goal
4. What was the author’s purpose in writing this article?
A.to amuse and entertain
B.to inform and explain
C.to predict and speculate
D.to correct a misconception
5. Which of the following describes the author’s attitude toward lacrosse?
A . He feels lacrosse is slow-paced but interesting.
B. He feels lacrosse is fast-paced and exciting.
C.He feels lacrosse is more fun to watch than to play.
D. He feels lacrosse is a silly and stupid game.

Passage 2

For many years, Charles Ives combined the pursuit of a business career with the composition of
music . After completing his musical studies at Yale University in 1898, he began a successful career
in the insurance business, which he pursued until ill health forced him to retire in 1930. Although he

had completed two symphonies by 1897, he wrote his most important music between 1906 and 1916

at his country house in Connecticut.



His four symphonies, written between 1896 and 1916, are extraordinary for their inventiveness
and originality , anticipating musical devices later developed independently by Stravinsky and Schon-
bert . Ives did not greatly influence musical trends, however, for a few of his works were performed or
published when first written and he virtually stopped composing in 1918 when he suffered a nervous
breakdown . There is no doubt that Ives was ahead of his time, but his obscurity seems in large mea-
sure due to his own attitudes. He was not interested in what other composers were doing and did not
care what others thought of his music. Furthermore, his insistence that anyone interested in his music
should have it free of charge made commercial publication almost impossible. In any event, few peo-
ple knew about Ives until 1939, when a performance of his second piano sonata( 250 ff] ) , complet-
ed in 1915, won him wide recognition, In 1947, nearly forty years after his composition, his Third
Symphony received the Pulitzer Prize. Even in the face of success, Ives showed contempt for critics
and audiences. He commented, “prizes are the badge of mediocrity (°F FLI#¥ AL 3£ )” and gave the
prize money away. . |

1. By saying that Ives was”ahead of his time, the author means that
A .lves ran out of his creative energy as a youth
B. Iver was advanced in the style of music composition
C.No one understood and appreciate his music
D.Ives composed music at an untirely age

2.From the passage we know that Ives paid little attention to

A . insurance business B. other composers
C. his Third Symphony - D.anvone

3.1t is safe to say that
A.Ives had no influence on the 20th century composers at all
B.Ives studies insurance business at Yale University
C.in the face of success Ives could not keep his head
D.Ives wrote his Third Symphony in 1910’ s
4. Which of the following statements best describes the author’s attitude toward lves?
A . He was a great success in the composition of music.
B.He was a great composer with no business sense.
C.He was not right in looking down upon other composers.
D. His life was one of mediocrity .
S.lves did not accept the Pulitzer Prize and gave the prize money away just because

10



